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1. Answer all questions.

2. All questions carry equal marks :

3. Only one answer is to.be given for'each.questions.

4. If more than one afiswers are marked, it would be treated as
Wrong answer. '

5. Each question has four alternative responses marked serially
as A, B,C,D .youhave to darken only.one circle or bubble
indicating the correctansweron theanswer sheet using Blue
and Black Ball point Penz .

6. The OMR answer sheet is inside this test booklet. When you
are-directed open the test booklet , take out the answer sheet
‘and fill in the partictilars carefully with blue and black ball point

each wrong answer. {A wrong answer means an incorrect
answer of more than one answer for any questions. Leaving all
the relevant circles or bubbles of any question blank v
_be consider as wrong answer)

another Question paper . Candidate himself shall be
responsible for ensuring this.

9. Mobile phone or any other electronic gadget in the
examination hall is strictly prohibited. A candidate found with
any of such objectionable material with him/her will be strictly
deaii as per ruies.

10. Plese correctly fill your roll number in OMR sheet 5 marks
can be deducted for filling wrong or incomplete roll Number.
11. If there is any sort of ambiguity/mistake either of printing or
factual nature then out of hindi and English Version of the
questin, the English Version will be treated as standard.

e "‘ )‘ i, NS Fﬁ} g wy F 7R Warning: If a candidate is found copying or if any unauthorized
arefl GTSE # faafsia faar o w@ar 5’ / material is found in his/her possession. F.I.R would liable to be
prosecuted. Department may also debar him/her permanently
from all future GTSE examinations.
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Do note open this Test Booklet until you are asked to do so.
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. ENGLI
Use Suitabfe th SH
rt' .

- Icle jp blanks: (Q.1t0Q.3)

English

e Interesting subject. Q.9
(a) a
(b) an

(C} the {d} and
Q.2

Coyoutey lie.

(a) an (b) a

(Cithe  tainone e
Q.3

The dog is 0 faithfull animal.

(a)a (b) an

(c) the (d) none

Fill suitable Preposition: ( Q.4 to Q.6)

Q.4 kalibai lived .......... rastapal village of Dungarpur. Eq :
(a)in (b) on . l;l;12
(c) at (d) upon

Q.5 | threw the scrap ...............

g {6)an
o (A with

Q.6 Dasehara is a symbol e

evil.
. Q.14
(a) over (b}in
(c) under (d) upon -
Use and ,but,or in following sentences: ( Q.7 to Q.9)
Q7 We pledge nege{to chew gutkha ......... tobacco Qs
again.
(a) or (b) and
(c) but (d) None
Q.16

Q.8 Harsh ....... Nitin were students of class v,

(a) or (b) and

(C) but (d) none

Meena .......... Rehana are good friends ...... they

read in different classes.
(a) but, and (b) and, but

(c)or, and (d) but, or

Fill in the blanks with correct verbs. (Q.10 to 12)

lissiesenies not playing the match.
(a) is (b)do

(d) have

| /Choose the third form of verb given in capital

o | letters: "SET”
i(a)set (b) setted
(c) setten (d) seted

Any qualities, feelings or ideas are refereed to be-
(a) abstract nouns (b) common noun

(c) Proper noun (d) collective noun

Words like crowed, army, fleet and swarm are
called.

(a) collective noun (b) abstract noun
(c) proper noun (d) none
kindness is ........... noun,

(a) uncountable (b) countable

(c) botha &b (d) none

reerneenens @re used for both singular and

(a) you, yours (b) me, mine

(d) none

(c) He, she
JGM GURUKULAM GTSE 051/A
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Q.19

Q.20

Q.21

Q.22

Q.23

Q.24

A AN . W Py — = E
(d) > j
SUE R, stories, (c) 4 2 'f
(a) writes (b) write , which is right in following options: frefearfer E
. e E au kil Aol o of E\ d
(c) going (d) none ade i E
e f_::” 5 b) - )-
He..., Writing a book. (a) -;— < = ( ) !
(a) is (b) am (c} :(d) -< 7 e E
(c)are F";F:H:F i
(d) have Q.26 What s tally mark of 4. ’
We ... 5
to the zoo yesterday. o 7 2oft W T 2 ll
(a) is (b) went e
: ()i 4%~ ()N |
(c) gone (d) none =0
(c) 1l - Ag) !
Iceis ......... but steam is hot.
Q27 S5 ;
(a) cold (b) colder A - !
.@5 {b) 625
{C) ColdESt (d] none ‘_""'\ l
s 2 "(d) 250 |
; _Numeral for Elghty crore eighty lakh eighty one |
Mathematics '-:"e:s- l
|
Choose the correct option: H2T ﬁ?@ B!‘Fﬁ’ FOIZ AT AT THFATHT T 4F 2- |
(a) 273 <284 (a) 8080081 (b) 8008881
(c) 287< 294 (c) 808000081 (d) 808008081

25 lakhs + 6 thousand+4 ten = ........

25 9T + 6 TATL+ITAT =
(a) 2506040 (b) 25600040 :
(c) 25640 (d) 2560040

Which fraction.will be greater in given fraction. &t Q.30  1X2X3XAX5X6 = ..........

W‘ﬁfﬁﬁaﬁwﬁﬁaaﬁﬁ‘ﬁ (a) 720 (b) 21
)3 & (5,% (c) 600 (d) 300
(c)i i 3 Q31 LCMof3,8and9is
% 2
: _ 3, 8 ¥l 9 T A=H IRt &

solve the given fraction: & 0 fora &1 21 s |
L (a) 18 (b) 27
=R

12 (c) 72 (d) 54
(a) 1

JGM GURUKULAM GTSE 051/A




Q.32

Q.33

Q.34

Q.35

Q.36

Q.37

T RV AN RS

aTnhde;e(;-are ............. prime numbers between 40
40T 70 F Ay TS HEaTd 2

(a) 11 (b) 10

(c)7 (d) 9

Example for an improper fraction is

()2 (b) 22

15
() o (d}-;%

| am a decimal number and | am 0.5 less then 1,
thenlam ..........

FUF AT AT ALK 1HOSFHE, ANH

_____ ST -]

(a) 1.5 (b) .01

(c) 0.15 (d) 0.5

Seema had Rs 5 and spent Rs 2.50 for. a‘béncil.
How much money was left with her?

tﬁﬂ?mﬁ@&ﬁtaﬂ%@ﬁﬁﬂ%ﬁv
25oma%ﬁ?nlm#wmﬁmm

(@Rs2.25  AB)Rs.3500 " Q)

o/
L
e

(c) Rs 2.50 (d) Rs 7.50

Ravi covered a distanee-of 1000 meters in 10
minutes. How much dfﬂiﬁg;;;eyered in 1 minute?

<31 10 firz & 1000 #1717 AN TEA 1

= ¥ P ghrag fi?
(3) 1km (b) 100 m
(c) 10 km (d)1m

Anju scoreed 39 marks out of 60 in maths test.
Whats % is this? sﬁ;aﬁnﬁmﬁwﬁmﬁsoﬁ q
39 4 firer| 7z Fraa wfderd 22

(a) 75% (b) 35%

(c) 60% (d) 65%

™ el WD E—

Q.38

Q.39

0.4 ,9_

-'-4-.‘:‘}?-6 N

To change percentage into decimal, ..ooees
By 100.

qﬁsmnwmﬂ-—MWTHﬂ 27 100 7

(a) multiply (o) (b) divide (31 &)

(c) add (wire) (d) subtract (2771)

Find the area of a rectapgular field whose length
and breadth are 25 meter and 30 meter

respectively.

rarE s #2 Fwon 25 e o 30 {127 2
(a-)_;-?oum’ (b) 750m’

(c] 1 10m’ (d)75m’

fmdthe side of @ square field whose area is 81 m

‘WmWﬁﬂﬂTWﬁﬁmﬁﬂﬂ

) aawslaﬁrﬁv*

Q.42

Q.43

Q.44

(b) 4m

v (c'/)' 40m (d) none

6500 gm in kg- FF=T & 6500 TTH ZIT
(a) 65 kg (b) 6.5 kg

(c) 650 kg (d) 0.65 kg

Dheeraj has 192 bananas. Than how many dozen

can be in these bananas. 17 F T 192 F 2

77 AT § PR =i 2 A @
(a) 12 (b) 16
(d) 10 (d) 8
(1225:2)X3/=
(a) 180 (b) 183
(c) 20 (d) none

what is the parimeter of triangle if his side is 6

cm, 8 cm, 10 cm. A gt &1 5[ 6 #T, 8 T,

10 4t & At T wfewT = 2

(a)24 m (b) 24 cm

JGM GURUKULAM GTSE 051/A
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: i “Ate
SRl (d) 480 em Q50 In which district Sariska National Park is located
Q.45  Fraction form of 0.023 afrerr ot e & Ha H fRoqa 2?
0.023 &1 s =7 (a) Jaipur ST (b) Alwar H9Y
(a) m;m (b) ]ﬁ (c) kota F1ZT  (d) jaisalmer EEELE
(c) - {d] i Q.51 Which solution is given when a person has

‘ ¥a§ .
=y = vomiting and loose motion.

w1 Bt =afer #iy 38 offy @& 21 AT A AT Ay

Environment science & social study fear stvar 20
Q.46  In which state Ranthambore Tiger reserve (A) ORS ‘ﬁT‘GﬁT ‘mr

national Park located.
(B) Friut juice st =1 4

(a) Madhya pardesh  (b) Rajasthan ;

: (C)y Milkge

(c) Gujrat (d) Hariyana & |

(D) None 1< A&t

TR 2z o gt sene B oo B

B 22 : Whlchpart of the tounge tastes bitter?
(7) FeT 29 (@) T -5 s 7w FEAT FAT 2
i v }V
() T (1) E,'ﬁmwr *' \ Lﬁﬁ;o nt ATHA
Q.47 What is our rajasthan state bird, Q’ﬁ'ﬂ'[ WFT I lB} Back =
=T 74T A AT 82 s

ARSI EUN TR NG TR v A PR ENE )

(C) Middle == FT1

(D) All Ty

c) parrot AT IDe Jedek
(¢) p (d) Pe Q.53 What is the muscular bag of digestive system

Q.48 Plants are c:aﬂed Producgh& g called?
(a) pri‘marygﬂTiTﬁfl? 'f;’) semndary IEGIRED (A) Liver &
(B) Instestine 3T
(c) bntbﬁm%?/ (d) none #TE AET
Q.49  Animal th.azqﬁédon plants. 9 ITviT ST 94T 97 (C) Stomach T
fadr 7Za #1
R (D) Food pipe ST+ A&t
(a) Herbivorous TTHTETHT

Q.54  Name the seeds which dispre by water.

: - =S
(b) omnivorous HH-H&TH (A) Louts @T2H

(c) both ZTAT

(B) Rose [#Ta
(d) none of these ZA#H #T< %Y (C) Marigold R¥T¥T=e
I JGM GURUKULAM GTSE 051/A
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Q.55

Q.56

Q.57

Q.58

Q.59

(D) All. mfy

Name the outermost part of a seed.
AT F T2 a1 w37 A TATZY

(A) Cotyledons &=y Q.60

(B) Seeds coat st F1 argvor

(C) Embryo qor

FIE TR

What is main source of water on the earth?

(D) None

TAT 92 5 F1 g Je 47 3

(A) Rain =Tfrer Q.61

(B) River 72T

(C) Pond qATATT "' \

(D) Lake Bl
Paint is soluble in:-
92 Aot 2:-

(A) Water qrY

(C) Milkger

kS
What did Gandhi ji do to break the salt law?

(D) Lemon

(A) Dandi Marchs - ¥ 7T<
: Q.64
(B) Ahmedabad'March AEHZTATE ATH
(C) Champaran 917U
(D) All 7T
Name the sea on which every things floats.
Q.65

39 A7 FT ATH ad1zd ford 7T T 7T a7 2

(A) Dead Sea

b GRIRIKS

[c) taste T

. PR =

(B) Arabian Sea ¥4 AT

(C) Red sea EIGR:ILES

(D) None 1% £t

The young ones of mosquitoes are called?
T % At AT AT AT 82

(A) Larvae ATat

(B) Tadpole Ecane

(C) Caterpillar Fzeftewt
(D) All #ft

Aﬁ?ﬁiﬁﬂem aline because of their sense of

o
gl \

(b) smell =T
(d) hearing HAT

| Whatfs our National Animal .

FHILT THTT T FT 22
(a) Lion 91T (b) tiger AT
(c) leopaed dgsiT (d) Elephant ZT4T

Which of these things can be identified through
smell?

z99 § e s 7w & wg=T ST Awar 2
(a) Water 9Tt (b) air 4T
(c)sun &

Which animal has strong sense of smell ?
o strae Y faa i orfsw fi= gt 22
(a) ant &

(d) flower F=T

(b) crow FTsr

(c) elephant BTt

Who flies in the night using echolocation?

gfereat™ T ITART F0 Ta | FiA 3247 22

(d) dog FIT

(a) bat FHITZE (b) squirrel Frere Y
JGM GURUKULAM GTSE 051/A




Q.66

Q.67

Q.68

Q.69

Q.70

Q.71

(c) snake #TT (d) fox ATHET

where is Chand baori? 1% aTa#t Faf 27

(a) Ramdevera TTHZAT

(b) Abhaneri T

(c) jalore ATATT

(d) bundi &t

where is medtani baori? HEATHT aT9ET Fgl 27
(a) sikar v

(b) chittorgarh fR=tzwz

(c) jhunjhunu HFT.

(d) jaipur TATT

Which animal dances when “been” is played
" AT Y A AT AL AT 22

(a) lizard fEaaett

(b) tortoise ey

(b) Crocodile HTTH== (d) snake

Malaria is caused by- 4\

(c) house fly Eﬁﬁ q%;\
7
(d) none of these Z7H ¥ %

full form of WHB'
WHO T @wﬁrﬁ T 2
(a) World Hight organization o gree dired
(b) world helth organization faPa e &5
(c) wild helth organization STl FTE FET
(d) world help organization faea FgTaar |@sd

Dengue is caused by:-

Q.72

." fQ% ’\_"Wh”

Q.75

Q.74

11 feas AT grar 8-
(a) aedes mosquito TETS W=7
(b) female anopheles HTET TATEATT

(c) house fly TT¥e] WadT
(d) none of these none of these

What is given to a sick person for getting instant
energy? FTHTT Z1f3F 1 qLa F9T ITH 774 & (A7
F7 2T srar 22

(a) Glucosedrip TfahTsT F21 AT |
(b) Ice- cream smEAATH fETAT

-
1"'-‘—.: iy

ﬂt) Pizza ﬁWT feEramEn

".n’.-,t-\ \ 3\
d) curd el ﬁ‘t‘ﬁ?ﬁ
el ’; b

B —— 1L x m

k&b'food and vegtables in
iefrigerator?

| e sic afet fst & T v £
!”\":'-"(‘a'}'JTo keep them fresh. 375 ATHT T F foAm.
(b) To make them crisp. I F¥EHIT AT F AT,

(c) To make them more tasteful 37 17 CICED

(d) none FT< AET

Why should we not eat junk food?

20 S ET FAT AST AT ATR?

(a) Good for health ¥aTFe7 F forw sr=at

(b) Not good for health ¥aTeeq ¥ form sr=ar 721
(c) give us energy B8 Fo1T fUeTdT 2

(d) all of these FUT & #+fy

Aneamia is caused due to the deficiency of

uerfRaT et a3l % e g
(.a)Ironv‘-Pr%_T

(b) cooper FIUT
JGM GURUKULAM GTSE 051/A
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(c) chlorophyll #1715 Q.80 Mahi Dam is located in ................district
(d) All of th £ rajasthan. HTEY aTer TroEaTA F L A H
oft q°
ese f_’\gm %l

(a) banaswara 1947131

(a) Running water &A1 9THT .
€ ' (b) barmer ATZHT

(b) Stagnant water a7 Tt

i Q76 mosquitoes lay eges in:- ¥=< 2 aq 2-

(c) kota FrzT
" (c) River water a1 FT qTH1 (d) pali TrefY
pali
’(
(d) Salt ST qTAT
‘ ) Salt water. F9F #T Q.81 Name of chief minister of rajasthan,
. Q.77 Earth quake is caused by: AT ‘rqﬁ?zﬁﬁmﬂ’r
T FY FaF o gar & TEATT
=t g 2 (@) shri Ashdkgehalot oft srerr
(a) shaking of earth &34t &1 fFaaT

""I(b" Sh"‘ 'Bhajan lal sharma =t 75 77 9rH1

(b) shaking of river 73T F1 fR==T -
il (©).smt. Vasundra raje sindhiya ATaeT Z3-207T 714

(c) shaking of trees T2T &1 f2=AT =y 7
(d) none FTE T2 id) smt. Dropdi murmu ATHAT ZT9%T 75
Q.78 The chemical used to increase fertlllty of scu! are QBZ'?_ ! :J!:E!’?MS the mother name of shivaji?

called? A, \
AR #T AT FT 779 T 97?2

iﬁ il £ D L NV " (a) jija bai SfrsTT &%

v (b) Neja bai A=IT a2

() Fertilizer 397% T
L\ Ol (c) laxmi bai =T aT$

(b) pedsricides #taaTer®

(d) none FT5 72T

- (c) Tra nqullizer?ﬂi’d'aﬁ
: Q.83  which city is known as city of lack
. (d) none FIT F2T 4‘;« E
%7 e e &1 AT T 9IRT Ry ATAT 27

Q.79 Dams onthe river are cohsiructed for;

) Jaipur STA9Y (b) Udaipur 32397
47 97 A4t F7 fAm G o fear srar 22 s

o (c) jodhpur STITE  (d) kota F=T
(a) Irrigation
Q.84 which city of capital of rajasthan.

(b) producing electricity, fa=st#T #1 24,
TTSTEATA 6 TISTHTHT A A7 2077 32

(c) Both. @141

(d) None Tz 72T

(a) Jaipur STATY (b) Udaipur 33T

2
]

(c) jodhpur STTENTE (d) kota FrZT
Q.85 Who made our indian constitution.

JGM GURUKULAM GTSE 051/A
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Q.86

Q.87

Q.88

Q.89

Q.90

(a) mahatma ghandi WgT ieft

(b) jawahar lal Nehru STATET AT 42+

(¢) Dr. Bhimrao ambedker =T #H1H7Ta siassv

(d) Narendra modi %7 14T Q.91
How we can reduce air pollution.

FH AT T A A HH FT qHA 87

(a) cut the tree T=T FT FTZ FT Q.92

(b) growing new tree TET FY FAITHT
(c) burn the paper FRIS &I FATHT
(d) none s CEl
which city is famous for “dabu print”

A A 41T 21 e ¥ o afdrg @

(b) akola ?Aﬁﬁg‘\
(d) abhaner Wﬁ’l‘“f s o\

e
N ,\_\

resp’ivattan /

(a) Jaipur ST
(c) kota FIeT

Q.94
which gas we release during )
S i
“THT F AT 2 ?ﬂ?ﬁ'ﬁﬁiﬁ?ﬁﬁi {

‘-‘,raA.
2

(a) oxygen arﬁﬁﬁ'awr '

(b) carbonddi. cxiﬂe‘q?ﬁ'-r S -5
(c) nitrogen HE'}NFT

~'Q@» —
(d) sulpharda omde W‘s‘ﬁ AFATZS

who is educatﬁ%}/mster of rajasthan.
Wﬁ&%’%’/mﬁﬁw #

(a) madan lal dilavar #ZT AT=T [EEICES

(b) ahok ghelot #9T# 21

(c) govind singh dotasra mfavz ﬁ'@’ EACAL LAl

Q.95

(d) bhajan lal sharma =TT <ITeT 9THT

More water is required for the crop of.

\ (c‘). bcd

ﬁ‘&f‘
/

———————

Fber wwret % oo sfores areft 7 sraearsar 2ref 2
(a) mustard H7HY (b) Wheat g
(c) Pea WZT  (d) Rice AT

Mental Ability

Find the missing no. in given series

&L JEAT W qF qQAT AT FY. 1,4,9,16,...
(a) 25 (b) 21 (c) 20 (d) 24
fillin the blapkstfieh w41+ 97
a, ab,abc, L.

(a)aabe(b) abcc;

(d) abcde

sthathe3)(2+4 4-=-2 =

a
nﬂﬁmwa?ﬁrfrwaxzm 4+ 2=

(a & (b) 8

(d) 0

Arrange the given words in the sequence in which
they occur in the dictionary and then choose the
correct sequence:

U wru ersai &1 37 9 § HafEgT &7 A 4
ez #TT # Ard A foiw 7t ww 1

g
(1) selection (2)seldom (3) sender (4)self (5)
sell

(a) 42315 (b) 13524

(c) 21453 (d) 24153

What should come next in the following letter
sequence ? TABIToIferd sre #5 H S0 4T 3147

rfEo?

A AB ABC ABCD ABCDE ABCD_

(a) A (b) E
(c) C (d) 8
JGM GURUKULAM GTSE 051/A
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1
E Q.96
i
N .

Q.98

Q.99

T TR AR NIRRT V4N,

Q.100

find the missing word in given series:

£ TS s & g o 3%

2,4, 6, 8,;20, i

(2) 8 (b) 10

(c) 14 (d) 12

if X stands for addition, = stands for subtraction,

+ stands for multipliacation, and — stands for
division.

afz X 7 3d S 2, + F1 0 72Ta 8, + F 30 [
2, 37 - F1 7o Fvree 21 a9

208 +-8-442=
(a) 25 (b) 80

(c]S (d) 24

complete the series: F@AT T FL:
RSy O 20, 27

(a) 16 (b) 18

(c) 24 (d)14

belong to the group? SLCD A
fafora 7% 9 w92 s EAKCES
ST A9E | Hatad 7@l 22

(a) kerosene fRZT FT AR bewater

(c) petrol TZT : (d)""L'F-'G THTE T

Find the odd*ﬁeﬁm in fol!owrng

faafafaa 9 ﬁ'tm Tz S1d Fifor:
(a) 80-9 (b) 64-8
(c) 36-6 (d) 49-7

JGM GURUKULAM GTSE 051/A

R T Sr—




